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,Ln
VI Semester B.Com. Examination, May /June - 2OL9

COMMERCE

6.5 : Elective Paper - III - Performance Managernent

(CBCSI (Freshers+RePeaters - 2OL7-18 & onwards)

Trme : 3 Hours

Instructiott : Answer slrculd be witten in English or in Kannada.

eqroil - D/SECTION-A

1. a$o{raodd.n 5 {J.ntrr ei)sOtu. !g 6i,rd 2 uodild;.

Ans-,ver any 5 questions. Eerch question carries 2 marks.

r^\ u:.r, i"J5pi ;fC;Oli; ?ld, ILV w(M 
2

What is target costing ?

-J' --J. rJ :^--+J "J- - JJJ^J\--?. J - 6(b) *t.X;U5 "iw'-J= 7:.5ar.a'rWa iilot?oJc! i''rvoe'

Give the meaning o[ activity based costing'

r o ^f, ^J- -^+-: -*\ O
tci dii iP wuuJJ JJv*sr':* !

What is Break Even Point ?

(e)

(d) a6 dajaoi noL:;- ;,,, :,;:il r$ flc1- 7

What do you rnean by standerd costing ?

z:odao* * ;Er,*dq dDi:rrc ded dcd:bao$rijo ?

How do you calculate Debt - Equity Ratio ?

zudc-Dd# ddoir ufr r ;,idscJii), dJac.

Gir.e the meaning ol Transfer Price'

oJor-, ppnrri--\,:^'J^-\ O
.JUCJ UU.)-'C,.(;;,JUJU\C,\- (

What is Fiexiblc Budgct ?

(f)

; (s)

P.T.O.
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AsFil -D/SECTION-B
oJm$ooddro 3 $ddil9rt erugOr.l. d,e ddqri 6 erodzls;b. 3x6=18
Answer any 3 quesl.i<lns. Each question carries 6 marks.

2. moqienoS:a d"{m{ rigr" #t^Ddr^3d upad- *{ao{nv da;eJ d.oo^iil{;',.:. Be&.
State the differencc bctween Traditional costing and Activity based costing.

3. dr d$nd dw&r.9og:od :

(at Ut) dd--'?'{^-\:: -roJ*
(b) gil .o i.g.c* ilsr
(c) giD ..dDF-r n-gjc*fivi. dcu*LG:hO

5d doCil*c
mtt nou3riq;i:
s,-,? I aoliis9J i!v\-/L,J\-/

mid toOdd
Using the following information,
(a) Labour Cost Verriancc
(b) Labour Ratc Variernce
(c) Labour Efficiency Variance

Standard hours
Actual hours
Standard wage rate
Actual wage rate

4000
5000
< 3 6e dou3d

{ 2.50 dB dcs-ld

calculatc :

4.

4000
5000
( 3 per hour
< 2.50 per hour

{ 3,00,000

dr dgnd dro&gd{c &od) iodd iouoiiuid :(.p'e

udsolod dz.{. C0 C}aDsfd T 80
R d dzgil$ba?3
dod>b@onO.

(a) i*)&.9 Dod) cb"oD'ffr$e i,:eb d.redde.'A-JJm

(b) z"ocb ded i;i:i.9 aScd:#is, 4000 C)-oAos"ded de;b i;&,-,i ;;c?oj CeJ

doud:i,cGc0:O.

The following information rclatcs to :r llrm
Selling price per unit < 100
Variable cost pcr unit < S0
Fixed cost T 3,00,000
Find out.
(a) BEP in units and in amount
(b) Find out sclling price pcr unit if LIBP is brought down to 4O00 units.

I iilllil iltil til ililt llllt ilil lill



5. 6o&rordo$ 10,000 oi:yD&a;q slooddo$ eo6oai') d{il$c dt

dai eddzlg:
6

maindst)
J arc1NgV

pdero/o# a3:eo dz$.ildr
:5d dreu: d€ri$b 1iz,oo,oool
aroero/rrd $asr-risb (ded)
d;oo.oti i€iisb (10% 

fud)
add# d€rigc (2o% 76d)

t:uige ,i€i1sr (< 1,00,000 fuot

i+ni d;o8o3i?c-- d,?4, alte;d ddd9&r

(a) a)oeo uieS iel.
{b) ob3gilv qri ;zi

)-J-) r- ^-.- -t -)^)
tCl s.rJtr'(CF /l: (ai-t-&r" .*

(d) o$ogids eoefl de;
>-_+: *-_) :;.: i iXte ) cJwl O.[E c-l t1. ; * :j

(f ao;$nil* *l uiurot."i{
is3 doCE uqrcddsr; :

ii) a-De& =i,"5dq {c;J.
(ii) aadddg io4 

r

riiit ela:d>; dr-c"rriE lo{
rir r li-.,ei!lv xo.::.

o..\ i
, ---J ^J-- oJ-J -,-^+^).t ?n12l\'l :Jtg-\ri9U-(, i t'u:;-\r1\v -JvJr.

(r'i) xad.:ndS di red:o.l:r t-ot-;

UUt^!CoC9U!\r,

90,000
3,00,000
2,00,000
4,00,000
1,15,000
1,50,000

50
200

5,00,000
4,000

100
500

i rlliiil llllll lll lllil lllil llll llll
a-Jr^a^ 6-:
S "r6\i("9U(,sJ 

:

8,9 o$,oeufd (<)

140
50
40
20
10
)6
l4
10

310
^r\- ^J\<-- 

* ^J- 
q c

- -.--.'-:: . : -,iL:r --7-\;, -,.!ra\rv. {r\-\^r}v'\,.

.:r.- ,-:.:tnses budgetcd firr pioducti6n of 10,000 units in a factory is furnished
,.,..,''.'
Elements of cost Cost Per unit (t)

l.1a--erials I40
a:our 50

I,'a:iab1e overheads 40

frxed overheads ({ 2,00,000) 20
.r ariable expenses (direct) 10

Selling expenses (10% fixed) 26
t4Distribution expenses (20% fixed)

Administration expcnses ({ 1,00,000) fixed Ior all lcvel 10
310

Prepare a budget {br thc production of 8,000 units'

GS-471
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From the foilowing calculate cost driver

(a) Purchase order cost

(b) Nlaterial set uP cost

(c) Product Packing cost

(d) Machine testing cost

(e) Maintenance and cicaning cost

(f) Material handling cost

Cost allocation basis arc :

(i) Number of Purchase order

(ii) ltrumbcr of setuP

(iii) No' of Packaged Packcd

(i") Numkrer of Test

(v) No. of batch run

(ri) No. of time mertcrials handicd

rate :

,
90,000

3,00,000

2,00,000

4,00,000

1, 15,000

1,50,00o

50

200

5,00,000

4,000

100

500

kr sJ L)

cJJvUcrco

vv!t/

J^--J-, A^G\A .
ouL.Sioow\,\ rv

-*^? i--r: ay;---^
Ia) Ui+-'--\'Jl-'va !vevt v

q ) 1.4.tDl ',.u rcy,
w!

(c) { 6,00,0O0 soddgie;: ziercldli ;riuo'c irDg

rr\o a ^]^--<\ tn;eld) ra'ire a''Gr

(e) erod < 1,44,000 
"69,il 

d;dt'i:;O trom*'.

({) T 20,00,000 -rlo.,LiE u;dli :nzi

)J- -Jf 1a2 ..:r-:?-:a ;l:{i
(g) ;CE) "i:"riJt\v itvJJirLe^) Iw-

I lHilll llfil lil ililI lllll illi lIil

3xL4=42
azJod -:r/SECTTON-c

o3mdmoddro 3 {d.dcld $DgD:r' qg qd{il L4 ucdd*:'

Answer any 3 qucstions' trach qucstion carrics 14 marks'

7 " LOC dod.loiu 2 ildrdeip^ dr d{dci ;*dil*i; tead'

31.3.18

< 16,20,000

{ 35,000

31"3"19

{ 18,00,000

< 90,000
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-Po '-iquioJQ,v

}Jr.jv-

J--
ilii

* a--rf\d9oJ

EU

Reports thc Jollolving inlormatioc. for 2 consecrutive yeal:s

3 !..3.19

i 8,00,000

90,000

$De Dd$r

(T)

44,000

56,000

60,00c)

5B,0OrJ

62,OCi 0

C,aPl

G*B-471

An Industry

Particulars

Sales

Profit

gorl$l dloootl

31.3.18
-i6,20,000

36,000

Calculate :

(a) P/V Ratio

(b) Fixed cost

(c) Sales to earn a pro{it of ( 6,00,000

(d) BEP in amount

(e) Margrn of safety at a profit of { I ,44,OOO

(f) Profit x'hen sales are { 20,00,000

(g) Variable cost for 2 Yeats

8. t-4-2}:rg oce *od&oi: @doQd sor* { 32,000 e8d-E$JDof 2019 d d6ilAd

3 Borig d,i.t =Iciid dddilDd doJ:eode-:r dr E#nd drob,Brig"ba &ede;ofld.

(<)

70,ooo

80,ooo

96,OOO

1,OO,OOO

1,20,O00

6,000

9,000

9,000

I 1,000

14,000

aa:( IVJ

5,000

5,000

7,0c0

9,000

9,000

^-rJ {-, qr.r.
'elII c^JJgco(rltY- '

(a) Codrdcncc:i 2 3cd9 Fio eSQ LeGd:eed.

(b) d;oeiee- 25r :t ;jift io:oo* tE ryddod I gods ;JneC ailQ &eCoond.

(c) d"!e $e i-:;, tli =i3oJ: tloJd I 8oilsil.

(d) z;a8 
"cir; 

{ 2B,rJ00 soio$ dOdcJ:d:, a3Joof 2otg d d;o6o$0 and3d:;rrri"

p.T.0.
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From

(a) I

(b) I
(c) I
(d) r'

(e) it

(fl j\

Cost e

(i) h

(ii) N

(iii) N

(iv) N

(") N

("i) N

^t-t.:\_{ rgqrrk

Answe

^ ^J- _
t. @Vl..& g

^JJa;c\)U

J__1_

es oivu+,

OUL.&..CoC,

/a\ !=\(/
(b) e*i

(c) {
(d) r;
(e) st

(0 <l
tot(tr/
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A manulacturing compan-\,is expecting to havc ( 32,000 cash in hzrnd on
1"4.19 and it requcstcd you to prcparc a cash budget firr 3 months April to
June 19. The Iollowing rnlbrmation is supplied to vt_rr,r.

9.

Months

February
March
April
May
June

Sales
({}

70,000'
80,000
96,000

1,00,000
1 ,20,000

Purchases
({}

44,000
56,000
60,000
68,000
62,OO0

Wages

6,000
9,000
c) o()r)

1 1,000
14,000

Expenses

5,000
6,000
7,000
9,000
9,000

Other Informations :

(a) Period o{' credit allo',ved by supplier is 2 months.
(b) 25'k o{' sales arc lor cash and the period crcdit allowed tr: customer

is one month.
(c) Delay in paymcnt of wages and cxpenses is onc month
(d) Income tax { 28,000 is to be pnid in June 2079.

LO;J O,{lC;'13 :-;irt. {C;a:: ;eJ7ig: :

40% ioodrd$r A T 40 dg tliefd

60% dcnfrrd9; B { 30 qg ui.fd
gQdgcSJo 10%dd. -2--?-.^ i+ ^s..iie;oAi.ilr - Yj !'':"^''ti; C"tt"'t 

'"rv{ i
.;,v^rsJt ncJr",J/), u(rtVJ :

qo r^l.f imdrdl A {g 0j . d { 42

160 tiol *aldrd9; B ig u.r.fd { 23

-oiil8 wqdd 230 erCil9;
g3 ;):O- *iJiJ:: ;3^i ;,rIti_t ;jg:oJJ,ili,1-1, dcu{JJGTXO.

The standard cost of a ccrtain in chemical mixture is :

4Ook rnaterials A eLt t 40 per ton
6070 materiais B at ( 30 per ton
A standard loss of 10% is cxpected in production. Actual cost o{'materials
used is :

90 Tons of materials A at zr cost of < 42 per ton
160 Tons of rnaterials B at a cost of ( 23 per ton
Actual output is 230 t()ns.

Calculate a1i material variances.
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10.

7

d::cneg w-oltdd gdel;i

Trd1>nfi9:
:i.- ^n

Materials
Labour

Variable overhead
Fixed overhcad (? 1,00,000)
Variable expenses (direct)
Selling expenses (1O% lixed)
Distribution cxpcnscs (20% fixert)
Adrninistration c,xpcnscs ({ S0,000)
Total Cr:st per unit

qg o$"ae0s6d (fl
7A

Per unit (t)
70

25

20

t0
5

1a
I \_)

7

5
-:--=-=-
lJ5

or (a)l!oo units
thc levels.

9

1"p":: a budgcr tor producrion
IcJ tndrcatc cost pcr unit eit both

t1.
f] u?ro^ e-Edrt=j; .tr^J;,,5ilvt oJ-l.{,{, ?(b) rbO i#lrli; -:s,r;:,,) gf&.
(a) what are--the objectiies or Environmcnrar(b) State the steps in target costing.

Accounting ?

-oOo-

itilililililtiliililltil ffi lili

^ ^J-a"uQ.) u:::i;,jO::en I 0,000 ojlJa&trfrV
{ ar qJo.ieWU):

25z..rdsiioi d:eel dzg,f$ 20
1l*""*o i*il9:1ri,oo,ooo; toro ;#JV) (=s.d) _
---.: ^ .- 'A' D

1uru"* .JJei.fiV) 
(l0oo ;d) 13

::1* i{ns. ea,% P$$ 7
=.1nu" a{frs; (r s0,d00) s
:?, dt de c)'oCIu-"rd 1ss

3:31'^ "*T?* ti{ 6,000 cJ}/oa,L*ri ure-;-.* ;4.;:ir, ,-oe oxbd drodd cgdabd;:r:l_*E E: cir,rDao; d dde;:il d{;d"; la *eoi.
#:"";:;ffc's 

for buclgetcd produJtic>rl or 10,000 units in er factory are

iagTivr,;, Egii

(b) 6,000 units and

cs-471
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